

ARIZONA DEPARTMENT OF TRANSPORTATION
INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024011

| TRACS No. | Project No. | Item | County | District | Gross Length | Net Length | Prepared By: |
|----------------------------------|-------------|--------|---------|-----------|--------------|------------|--------------------|
| 999 UN YUM T041001C YUM-0-(225)T | | 101668 | UNKNOWN | SOUTHWEST | 0 | | Mowery-Racz Thomas |

| Highway Termini | Location | Work Description |
|-----------------|----------|------------------|
|-----------------|----------|------------------|

• CITY OF YUMA

• Various Locations-PHBs

• System Enhancement (Safety Improvements)

BID RESULTS FOR 2024011

Bid Opening Date : 9/5/2025, Prequalification Required, Engineer Specialist : Mowery-Racz Thomas

Completion Date:

340 Working Days

The proposed project is located within the City of Yuma in Yuma County at the locations of 24th Street and 6th Avenue and on Giss Parkway between 1st Avenue and Madison Street. The proposed work includes the installation of Pedestrian Hybrid Beacons, crosswalks, ADA pedestrian ramps, and other related work.

| Bid Rank | Compared To Department Estimate | Option # | Bid Amount | Contractor | Extended Sum of Items |
|----------|---------------------------------|----------|--------------|---|-----------------------|
| | +% | | \$820,214.50 | DEPARTMENT ESTIMATE | \$820,214.50 |
| 1 | -17.7% | | \$675,073.00 | AJP ELECTRIC, INC. 1920 W. CHERYL DRIVE PHOENIX, AZ 85021- | \$675,073.00 |
| 2 | +2.4% | | \$840,000.00 | DPE CONSTRUCTION, INC. 1636 E 20TH STREET YUMA, AZ 85365- | \$840,000.00 |
| 3 | +4.7% | | \$858,858.00 | HAWK CONTRACTING LLC 1022 E. LOYOLA DRIVE TEMPE, AZ 85282- | \$858,858.00 |

Winning Bidder is 17.7% Under Department Estimate (Difference = (\$145,141.50))

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|--|-----------|-------------|-----------------|---------------------------|
| 2020021 | L.FT. | REMOVAL OF CONCRETE CURB AND GUTTER | | | | |
| Bid Rank | Department Estimate | | 38.000 | \$50.000 | \$1,900.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$35.000 | \$1,330.00 | -30.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$110.000 | \$4,180.00 | +120.0% |
| 3 | HAWK CONTRACTING LLC | | | \$100.000 | \$3,800.00 | +100.0% |
| 2020025 | SQ.FT. | REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS | | | | |
| Bid Rank | Department Estimate | | 1,407.000 | \$8.000 | \$11,256.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$10.000 | \$14,070.00 | +25.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$5.000 | \$7,035.00 | -37.5% |
| 3 | HAWK CONTRACTING LLC | | | \$10.000 | \$14,070.00 | +25.0% |
| 2020036 | SQ.YD. | REMOVAL OF ASPHALTIC CONCRETE PAVEMENT | | | | |
| Bid Rank | Department Estimate | | 10.000 | \$40.000 | \$400.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$30.000 | \$300.00 | -25.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$150.000 | \$1,500.00 | +275.0% |
| 3 | HAWK CONTRACTING LLC | | | \$450.000 | \$4,500.00 | +1025.0% |
| 2020047 | EACH | REMOVAL OF SIGNS | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$250.000 | \$250.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$500.000 | \$500.00 | +100.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,200.000 | \$1,200.00 | +380.0% |
| 3 | HAWK CONTRACTING LLC | | | \$185.000 | \$185.00 | -26.0% |
| 2020057 | EACH | REMOVE AND SALVAGE (RRFB SIGN ASSEMBLY) | | | | |
| Bid Rank | Department Estimate | | 4.000 | \$1,000.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$1,000.000 | \$4,000.00 | +0.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$850.000 | \$3,400.00 | -15.0% |
| 3 | HAWK CONTRACTING LLC | | | \$200.000 | \$800.00 | -80.0% |
| 3030102 | CU.YD. | AGGREGATE BASE (YUMA) | | | | |
| Bid Rank | Department Estimate | | 4.000 | \$300.000 | \$1,200.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$200.000 | \$800.00 | -33.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,250.000 | \$5,000.00 | +316.7% |
| 3 | HAWK CONTRACTING LLC | | | \$2,400.000 | \$9,600.00 | +700.0% |
| 4090004 | TON | ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (YUMA) | | | | |
| Bid Rank | Department Estimate | | 3.000 | \$1,200.000 | \$3,600.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$2,200.000 | \$6,600.00 | +83.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$865.000 | \$2,595.00 | -27.9% |
| 3 | HAWK CONTRACTING LLC | | | \$4,250.000 | \$12,750.00 | +254.2% |
| 6070038 | EACH | SLIP BASE | | | | |
| Bid Rank | Department Estimate | | 10.000 | \$400.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$225.000 | \$2,250.00 | -43.8% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|---|----------|--------------|-----------------|---------------------------|
| 6070038 | EACH | SLIP BASE | | | | |
| Bid Rank | Department Estimate | | 10.000 | \$400.000 | \$4,000.00 | |
| 1 | DPE CONSTRUCTION, INC. | | | \$600.000 | \$6,000.00 | +50.0% |
| 3 | HAWK CONTRACTING LLC | | | \$450.000 | \$4,500.00 | +12.5% |
| 6070057 | L.FT. | SIGN POST (PERFORATED) (2 1/2 T) | | | | |
| Bid Rank | Department Estimate | | 152.000 | \$30.000 | \$4,560.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$40.000 | \$6,080.00 | +33.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$65.000 | \$9,880.00 | +116.7% |
| 3 | HAWK CONTRACTING LLC | | | \$17.000 | \$2,584.00 | -43.3% |
| 6070060 | EACH | FOUNDATION FOR SIGN POST (CONCRETE) | | | | |
| Bid Rank | Department Estimate | | 10.000 | \$400.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$200.000 | \$2,000.00 | -50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$525.000 | \$5,250.00 | +31.3% |
| 3 | HAWK CONTRACTING LLC | | | \$450.000 | \$4,500.00 | +12.5% |
| 6080005 | SQ.FT. | REGULATORY, WARNING, OR MARKER SIGN PANEL | | | | |
| Bid Rank | Department Estimate | | 207.000 | \$50.000 | \$10,350.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$40.000 | \$8,280.00 | -20.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$45.000 | \$9,315.00 | -10.0% |
| 3 | HAWK CONTRACTING LLC | | | \$30.000 | \$6,210.00 | -40.0% |
| 7010005 | L.SUM | MAINTENANCE AND PROTECTION OF TRAFFIC | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$30,000.000 | \$30,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$40,000.000 | \$40,000.00 | +33.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$20,000.000 | \$20,000.00 | -33.3% |
| 3 | HAWK CONTRACTING LLC | | | \$80,149.000 | \$80,149.00 | +167.2% |
| 7015052 | L.FT. | OBLITERATE PAVEMENT MARKING (STRIPE) | | | | |
| Bid Rank | Department Estimate | | 240.000 | \$7.000 | \$1,680.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$6.000 | \$1,440.00 | -14.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$27.000 | \$6,480.00 | +285.7% |
| 3 | HAWK CONTRACTING LLC | | | \$5.000 | \$1,200.00 | -28.6% |
| 7016050 | EACH-DAY | TRUCK-MOUNTED ATTENUATOR | | | | |
| Bid Rank | Department Estimate | | 70.000 | \$300.000 | \$21,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$100.000 | \$7,000.00 | -66.7% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,200.000 | \$84,000.00 | +300.0% |
| 3 | HAWK CONTRACTING LLC | | | \$250.000 | \$17,500.00 | -16.7% |
| 7016067 | EACH-DAY | CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED) | | | | |
| Bid Rank | Department Estimate | | 340.000 | \$50.000 | \$17,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$75.000 | \$25,500.00 | +50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$85.000 | \$28,900.00 | +70.0% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|--|-----------|--------------|-----------------|---------------------------|
| 7016067 | EACH-DAY | CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED) | | | | |
| Bid Rank | Department Estimate | | 340.000 | \$50.000 | \$17,000.00 | |
| 3 | HAWK CONTRACTING LLC | | | \$40.000 | \$13,600.00 | -20.0% |
| 7040005 | L.FT. | PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090") | | | | |
| Bid Rank | Department Estimate | | 2,919.000 | \$1.500 | \$4,378.50 | |
| 1 | AJP ELECTRIC, INC. | | | \$1.000 | \$2,919.00 | -33.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$3.000 | \$8,757.00 | +100.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1.000 | \$2,919.00 | -33.3% |
| 7310011 | EACH | POLE (TYPE A) (15 FOOT) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$2,500.000 | \$2,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$2,150.000 | \$2,150.00 | -14.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$2,500.000 | \$2,500.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$2,900.000 | \$2,900.00 | +16.0% |
| 7310190 | EACH | POLE (YUMA STD NO. 9-060, TYPE 1) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$30,000.000 | \$60,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$23,000.000 | \$46,000.00 | -23.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$33,000.000 | \$66,000.00 | +10.0% |
| 3 | HAWK CONTRACTING LLC | | | \$25,000.000 | \$50,000.00 | -16.7% |
| 7310191 | EACH | POLE (YUMA STD NO. 9-060, TYPE 2) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$30,000.000 | \$30,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$26,215.000 | \$26,215.00 | -12.6% |
| 2 | DPE CONSTRUCTION, INC. | | | \$36,500.000 | \$36,500.00 | +21.7% |
| 3 | HAWK CONTRACTING LLC | | | \$30,000.000 | \$30,000.00 | +0.0% |
| 7310192 | EACH | POLE (SPECIAL) (YUMA STD NO. 7-010) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$3,500.000 | \$3,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$5,000.000 | \$5,000.00 | +42.9% |
| 2 | DPE CONSTRUCTION, INC. | | | \$6,500.000 | \$6,500.00 | +85.7% |
| 3 | HAWK CONTRACTING LLC | | | \$8,000.000 | \$8,000.00 | +128.6% |
| 7310200 | EACH | POLE FOUNDATION (TYPE A) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$4,000.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$2,000.000 | \$2,000.00 | -50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$3,700.000 | \$3,700.00 | -7.5% |
| 3 | HAWK CONTRACTING LLC | | | \$3,000.000 | \$3,000.00 | -25.0% |
| 7310371 | EACH | POLE FOUNDATION (YUMAS STD NO. 9-050, TYPE A-1) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$5,400.000 | \$10,800.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$7,900.000 | \$15,800.00 | +46.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$3,750.000 | \$7,500.00 | -30.6% |
| 3 | HAWK CONTRACTING LLC | | | \$6,000.000 | \$12,000.00 | +11.1% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|--|----------|--------------|-----------------|---------------------------|
| 7310372 | EACH | POLE FOUNDATION (YUMA STD NO. 9-050, TYPE A-2) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$7,200.000 | \$7,200.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$13,000.000 | \$13,000.00 | +80.6% |
| 2 | DPE CONSTRUCTION, INC. | | | \$4,250.000 | \$4,250.00 | -41.0% |
| 3 | HAWK CONTRACTING LLC | | | \$6,000.000 | \$6,000.00 | -16.7% |
| 7310373 | EACH | POLE FOUNDATION (YUMA STD NO. 7-080) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$2,500.000 | \$2,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$3,100.000 | \$3,100.00 | +24.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,500.000 | \$1,500.00 | -40.0% |
| 3 | HAWK CONTRACTING LLC | | | \$3,750.000 | \$3,750.00 | +50.0% |
| 7310650 | EACH | MAST ARM (YUMA STD NO. 9-060, 30 FT.) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$9,000.000 | \$18,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$5,500.000 | \$11,000.00 | -38.9% |
| 2 | DPE CONSTRUCTION, INC. | | | \$7,000.000 | \$14,000.00 | -22.2% |
| 3 | HAWK CONTRACTING LLC | | | \$6,600.000 | \$13,200.00 | -26.7% |
| 7310652 | EACH | MAST ARM (YUMA STD NO. 9-060, 60 FT.) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$25,000.000 | \$25,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$19,400.000 | \$19,400.00 | -22.4% |
| 2 | DPE CONSTRUCTION, INC. | | | \$23,000.000 | \$23,000.00 | -8.0% |
| 3 | HAWK CONTRACTING LLC | | | \$22,000.000 | \$22,000.00 | -12.0% |
| 7310653 | EACH | MAST ARM (LUMINAIRE, YUMA STD NO. 7-085 TYPE F1) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$1,500.000 | \$1,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$800.000 | \$800.00 | -46.7% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,050.000 | \$1,050.00 | -30.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1,800.000 | \$1,800.00 | +20.0% |
| 7310654 | EACH | MAST ARM (LUMINAIRE, YUMA STD NO 7-085 TYPE F2) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$1,500.000 | \$3,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$800.000 | \$1,600.00 | -46.7% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,125.000 | \$2,250.00 | -25.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1,800.000 | \$3,600.00 | +20.0% |
| 7320070 | L.FT. | ELECTRICAL CONDUIT (3") (PVC) | | | | |
| Bid Rank | Department Estimate | | 150.000 | \$90.000 | \$13,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$55.000 | \$8,250.00 | -38.9% |
| 2 | DPE CONSTRUCTION, INC. | | | \$27.000 | \$4,050.00 | -70.0% |
| 3 | HAWK CONTRACTING LLC | | | \$19.000 | \$2,850.00 | -78.9% |
| 7320294 | L.FT. | ELECTRICAL CONDUIT (3") (HDPE) (DIRECTIONAL DRILL) | | | | |
| Bid Rank | Department Estimate | | 200.000 | \$120.000 | \$24,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$120.000 | \$24,000.00 | +0.0% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|--|----------|-------------|-----------------|---------------------------|
| 7320294 | L.FT. | ELECTRICAL CONDUIT (3") (HDPE) (DIRECTIONAL DRILL) | | | | |
| Bid Rank | Department Estimate | | 200.000 | \$120.000 | \$24,000.00 | |
| 2 | DPE CONSTRUCTION, INC. | | | \$172.000 | \$34,400.00 | +43.3% |
| 3 | HAWK CONTRACTING LLC | | | \$140.000 | \$28,000.00 | +16.7% |
| 7320420 | EACH | PULL BOX (NO. 7) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$2,000.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$1,000.000 | \$2,000.00 | -50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,165.000 | \$2,330.00 | -41.8% |
| 3 | HAWK CONTRACTING LLC | | | \$1,800.000 | \$3,600.00 | -10.0% |
| 7320421 | EACH | PULL BOX (NO. 7) (WITH EXTENSION) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$2,000.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$1,250.000 | \$2,500.00 | -37.5% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,300.000 | \$2,600.00 | -35.0% |
| 3 | HAWK CONTRACTING LLC | | | \$2,200.000 | \$4,400.00 | +10.0% |
| 7320510 | L.FT. | CONDUCTOR (NO. 10) | | | | |
| Bid Rank | Department Estimate | | 500.000 | \$3.000 | \$1,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$6.750 | \$3,375.00 | +125.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$3.000 | \$1,500.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1.850 | \$925.00 | -38.3% |
| 7320520 | L.FT. | CONDUCTOR (NO. 8) | | | | |
| Bid Rank | Department Estimate | | 370.000 | \$4.000 | \$1,480.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$8.300 | \$3,071.00 | +107.5% |
| 2 | DPE CONSTRUCTION, INC. | | | \$4.000 | \$1,480.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$3.000 | \$1,110.00 | -25.0% |
| 7320585 | L.FT. | CONDUCTOR (INSULATED BOND) (NO. 10) | | | | |
| Bid Rank | Department Estimate | | 340.000 | \$3.000 | \$1,020.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$7.000 | \$2,380.00 | +133.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$3.000 | \$1,020.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1.900 | \$646.00 | -36.7% |
| 7320590 | L.FT. | CONDUCTOR (INSULATED BOND) (NO. 8) | | | | |
| Bid Rank | Department Estimate | | 370.000 | \$4.000 | \$1,480.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$8.900 | \$3,293.00 | +122.5% |
| 2 | DPE CONSTRUCTION, INC. | | | \$5.000 | \$1,850.00 | +25.0% |
| 3 | HAWK CONTRACTING LLC | | | \$3.000 | \$1,110.00 | -25.0% |
| 7320654 | L.FT. | CONDUCTORS (IMSA 20-1, 20C) | | | | |
| Bid Rank | Department Estimate | | 340.000 | \$23.000 | \$7,820.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$52.000 | \$17,680.00 | +126.1% |
| 2 | DPE CONSTRUCTION, INC. | | | \$60.000 | \$20,400.00 | +160.9% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|---|----------|--------------|-----------------|---------------------------|
| 7320654 | L.FT. | CONDUCTORS (IMSA 20-1, 20C) | | | | |
| Bid Rank | Department Estimate | | 340.000 | \$23.000 | \$7,820.00 | |
| 3 | HAWK CONTRACTING LLC | | | \$16.000 | \$5,440.00 | -30.4% |
| 7330138 | EACH | TRAFFIC SIGNAL FACE (TYPE T) | | | | |
| Bid Rank | Department Estimate | | 12.000 | \$1,300.000 | \$15,600.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$1,450.000 | \$17,400.00 | +11.5% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,400.000 | \$16,800.00 | +7.7% |
| 3 | HAWK CONTRACTING LLC | | | \$1,450.000 | \$17,400.00 | +11.5% |
| 7330210 | EACH | TRAFFIC SIGNAL FACE (PEDESTRIAN) (MAN/HAND) | | | | |
| Bid Rank | Department Estimate | | 4.000 | \$1,000.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$820.000 | \$3,280.00 | -18.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,165.000 | \$4,660.00 | +16.5% |
| 3 | HAWK CONTRACTING LLC | | | \$1,100.000 | \$4,400.00 | +10.0% |
| 7330220 | EACH | PEDESTRIAN PUSH BUTTON | | | | |
| Bid Rank | Department Estimate | | 4.000 | \$1,500.000 | \$6,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$795.000 | \$3,180.00 | -47.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,125.000 | \$4,500.00 | -25.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1,375.000 | \$5,500.00 | -8.3% |
| 7330310 | EACH | TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE II) | | | | |
| Bid Rank | Department Estimate | | 8.000 | \$400.000 | \$3,200.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$200.000 | \$1,600.00 | -50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$450.000 | \$3,600.00 | +12.5% |
| 3 | HAWK CONTRACTING LLC | | | \$375.000 | \$3,000.00 | -6.3% |
| 7330340 | EACH | TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE V) | | | | |
| Bid Rank | Department Estimate | | 4.000 | \$1,000.000 | \$4,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$500.000 | \$2,000.00 | -50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,500.000 | \$6,000.00 | +50.0% |
| 3 | HAWK CONTRACTING LLC | | | \$825.000 | \$3,300.00 | -17.5% |
| 7330400 | EACH | TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE XI) | | | | |
| Bid Rank | Department Estimate | | 4.000 | \$525.000 | \$2,100.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$240.000 | \$960.00 | -54.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$600.000 | \$2,400.00 | +14.3% |
| 3 | HAWK CONTRACTING LLC | | | \$750.000 | \$3,000.00 | +42.9% |
| 7340101 | EACH | CONTROL CABINET (YUMA STD NO. 9-005) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$60,000.000 | \$120,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$52,100.000 | \$104,200.00 | -13.2% |
| 2 | DPE CONSTRUCTION, INC. | | | \$60,000.000 | \$120,000.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$55,000.000 | \$110,000.00 | -8.3% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|---|----------|---------------|-----------------|---------------------------|
| 7340120 | EACH | METER PEDESTAL CABINET | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$8,000.000 | \$16,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$17,200.000 | \$34,400.00 | +115.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$20,000.000 | \$40,000.00 | +150.0% |
| 3 | HAWK CONTRACTING LLC | | | \$17,500.000 | \$35,000.00 | +118.8% |
| 7340304 | EACH | CONTROL CABINET FOUNDATION (YUMA STD NO. 9-015) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$5,000.000 | \$10,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$1,000.000 | \$2,000.00 | -80.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$3,800.000 | \$7,600.00 | -24.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1,400.000 | \$2,800.00 | -72.0% |
| 7340306 | EACH | METER PEDESTAL FOUNDATION | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$3,000.000 | \$6,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$900.000 | \$1,800.00 | -70.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$2,900.000 | \$5,800.00 | -3.3% |
| 3 | HAWK CONTRACTING LLC | | | \$1,100.000 | \$2,200.00 | -63.3% |
| 7360104 | EACH | LUMINAIRE (YUMA STD NO. 7-040, TYPE D) | | | | |
| Bid Rank | Department Estimate | | 3.000 | \$1,300.000 | \$3,900.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$1,500.000 | \$4,500.00 | +15.4% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,300.000 | \$3,900.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$1,400.000 | \$4,200.00 | +7.7% |
| 7370455 | L.SUM | MISCELLANEOUS ELECTRICAL (RECORD DRAWIGS) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$6,000.000 | \$6,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$20,000.000 | \$20,000.00 | +233.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$8,000.000 | \$8,000.00 | +33.3% |
| 3 | HAWK CONTRACTING LLC | | | \$950.000 | \$950.00 | -84.2% |
| 9010001 | L.SUM | MOBILIZATION | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$88,000.000 | \$88,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$55,000.000 | \$55,000.00 | -37.5% |
| 2 | DPE CONSTRUCTION, INC. | | | \$92,000.000 | \$92,000.00 | +4.5% |
| 3 | HAWK CONTRACTING LLC | | | \$137,000.000 | \$137,000.00 | +55.7% |
| 9080084 | L.FT. | CONCRETE CURB AND GUTTER (YUMA STD NO. 3-060) | | | | |
| Bid Rank | Department Estimate | | 38.000 | \$70.000 | \$2,660.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$100.000 | \$3,800.00 | +42.9% |
| 2 | DPE CONSTRUCTION, INC. | | | \$240.000 | \$9,120.00 | +242.9% |
| 3 | HAWK CONTRACTING LLC | | | \$160.000 | \$6,080.00 | +128.6% |
| 9080242 | SQ.FT. | CONCRETE SIDEWALK (YUMA STD NO. 3-135) | | | | |
| Bid Rank | Department Estimate | | 506.000 | \$20.000 | \$10,120.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$15.000 | \$7,590.00 | -25.0% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|------------------------|---|----------|--------------|-----------------|---------------------------|
| 9080242 | SQ.FT. | CONCRETE SIDEWALK (YUMA STD NO. 3-135) | | | | |
| Bid Rank | Department Estimate | | 506.000 | \$20.000 | \$10,120.00 | |
| 1 | DPE CONSTRUCTION, INC. | | | \$16.500 | \$8,349.00 | -17.5% |
| 3 | HAWK CONTRACTING LLC | | | \$40.000 | \$20,240.00 | +100.0% |
| 9080287 | EACH | CONCRETE SIDEWALK RAMP (YUMA STD NO. 3-150) | | | | |
| Bid Rank | Department Estimate | | 2.000 | \$4,000.000 | \$8,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$3,000.000 | \$6,000.00 | -25.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$5,000.000 | \$10,000.00 | +25.0% |
| 3 | HAWK CONTRACTING LLC | | | \$8,500.000 | \$17,000.00 | +112.5% |
| 9080297 | SQ.FT. | CONCRETE SIDEWALK RAMP (DETAIL A2) | | | | |
| Bid Rank | Department Estimate | | 569.000 | \$40.000 | \$22,760.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$20.000 | \$11,380.00 | -50.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$18.000 | \$10,242.00 | -55.0% |
| 3 | HAWK CONTRACTING LLC | | | \$40.000 | \$22,760.00 | +0.0% |
| 9240020 | L.SUM | FORCE ACCOUNT WORK (PROVIDE ELECTRICAL SERVICE) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$5,000.000 | \$5,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$5,000.000 | \$5,000.00 | +0.0% |
| 2 | DPE CONSTRUCTION, INC. | | | \$5,000.000 | \$5,000.00 | +0.0% |
| 3 | HAWK CONTRACTING LLC | | | \$5,000.000 | \$5,000.00 | +0.0% |
| 9240038 | SQ.FT. | MISCELLANEOUS WORK (INSRALL DETECTABLE WARNING MAT) | | | | |
| Bid Rank | Department Estimate | | 58.000 | \$1,500.000 | \$87,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$100.000 | \$5,800.00 | -93.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$35.000 | \$2,030.00 | -97.7% |
| 3 | HAWK CONTRACTING LLC | | | \$135.000 | \$7,830.00 | -91.0% |
| 9240050 | L.SUM | MISCELLANEOUS WORK (RELOCATE STREETLIGHT CONDUIT) | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$16,000.000 | \$16,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$10,000.000 | \$10,000.00 | -37.5% |
| 2 | DPE CONSTRUCTION, INC. | | | \$1,500.000 | \$1,500.00 | -90.6% |
| 3 | HAWK CONTRACTING LLC | | | \$4,500.000 | \$4,500.00 | -71.9% |
| 9240119 | EACH | MISCELLANEOUS WORK (IISNS) | | | | |
| Bid Rank | Department Estimate | | 3.000 | \$7,500.000 | \$22,500.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$6,500.000 | \$19,500.00 | -13.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$5,500.000 | \$16,500.00 | -26.7% |
| 3 | HAWK CONTRACTING LLC | | | \$4,500.000 | \$13,500.00 | -40.0% |
| 9250001 | L.SUM | CONSTRUCTION SURVEYING AND LAYOUT | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$15,000.000 | \$15,000.00 | |
| 1 | AJP ELECTRIC, INC. | | | \$20,000.000 | \$20,000.00 | +33.3% |
| 2 | DPE CONSTRUCTION, INC. | | | \$20,127.000 | \$20,127.00 | +34.2% |

*** Bid Tabs for Proposal Pamphlet 2024011 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-------------|----------------------|-----------------------------------|----------|--------------|-----------------|---------------------------|
| 9250001 | L.SUM | CONSTRUCTION SURVEYING AND LAYOUT | | | | |
| Bid Rank | Department Estimate | | 1.000 | \$15,000.000 | \$15,000.00 | |
| 3 | HAWK CONTRACTING LLC | | | \$50,000.000 | \$50,000.00 | +233.3% |